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M 87 7. GSZEHA vs STZMEH (M2, 2019.12.08, 14:15~15:49)
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M 87 7. GSZEHA vs STZMEH (M2, 2019.12.08, 14:15~15:49)
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GSZEIA 'S S3MH
1374 No Block 774
1870 /7 17H 1 Block 2970 / 174
697 / 471 2 Block 697l / 67H
474 7 07H 3 Block 371 7/ 07H
*22Z Y AL "/ HE3 N
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
GSZH A T4 'S s=49 34
270 7 171(50.0%) No Block 370 /7 37H(100.0%)
1870 /7 77H(38.9%) 1 Block 1270 /7 67H(50.0%)
5671 / 217H(37.5%) 2 Block 5270 / 257H(48.1%)
371 / 27H(66.7%) 3 Block 474 / 170(25.0%)
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> MEHS 34 22k
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E AE %53 AlZERE ol =42
MBS 4(12.1%) 11(33.3%) 3(09.1%) 2(06.1%) 2(06.1%) 11(33.3%)
MNEZ2| 27(58.7%) 12(26.1%) 5(10.9%) 2(04.3%) 0(00.0%) 0(00.0%)
oA 31(39.2%) 23(29.1%) 8(10.1%) 4(05.1%) 2(02.5%) 11(13.9%)
* BANE (BHREHB)
> EIHE
E AE %53 AlZERE ol =42
MIET 2| 9(26.5%) 10(29.4%) 2(05.9%) 1(02.9%) 4(11.8%) 8(23.5%)
MNEZ2| 18(48.6%) 11(29.7%) 2(05.4%) 2(05.4%) 1(02.7%) 3(08.1%)
oA 27(38.0%) 21(29.6%) 4(05.6%) 3(04.2%) 5(07.0%) 11(15.5%)
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Hl 87 A7]. GSZHA vs ST YUY (M, 2019.12.08, 14:15~15:49)

4

ZXdE

oH

4 43E (s Hn

v
rx
Rl
Jn
0%
rx
i?

> GSEHA (2%

- O[M QY S E4 SAEH 25008 STH7=)/ $A25197, 25 208

12 EAF 2011-12-31 SO VS GS / H XY 45347F

> 2 =9

= ME PN

ol 2y &3 s b B7l | SHME HAE sus s3 =K S A%
1 GSZHA 25 8 4 12 29 18 1611 1,092 992 1.101 214
2 e Fa= 24 9 3 12 29 19 1.526 1,055 1,028 1.026 25
3 a4y 24 7 6 13 30 23 1.304 1,191 1,081 1.102 15
4 St 2T A 16 5 8 13 22 29 0.759 1,100 1,167 0.943 25
5 KGCRI&tS A 13 5 7 12 25 31 0.806 1,156 1,220 0.948 214
6 IBK7| 23 9 3 9 12 18 33 0.545 1,023 1,129 0.906 11
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